SCHOOL DISTRICT OF OKALOOSA COUNTY Purchasing Department



NOTICE OF INTENT TO PURCHASE SOLE SOURCE

FILE REFERENCE #: SS 25-01 Houghton Mifflin Harcourt – English 3D

DATE/TIME OF INITIAL POSTING: 7/3/24, 1:00PM CT **DATE/TIME POSTING REMOVED:** 7/15/24,1:00PM CT

The products and/or services listed on the attached page(s) are believed to be of a unique or proprietary nature and therefore only available from one source. If you believe you have a "like" product or service to offer, please submit your complete cost proposal including descriptive literature and detailed technical specifications by email to the attention of the buyer listed below. If you prefer you may mail your proposal to the buyer at:

Okaloosa County School District Attn: Purchasing Department 202A Highway 85 North Niceville, FL 32578 Buyer: Vince Windham

Buyer's Email: windhamv@okaloosaschools.com

Phone: (850) 833-7668

This notice was posted on $\frac{7/3/24}{1}$. All proposals must be received by the buyer no later than 1:00PM CT on $\frac{7}{15}/24$. Proposals received after this deadline will not be considered.

Thank you for your interest in Okaloosa County Schools.



Houghton Mifflin Harcourt

Proposal #009042852

Prepared For

Okaloosa Co School District

Attention:

Dr. Anita Choice anita.choice@okaloosaschools.com

For the Purchase of:

English 3D 1 Year (7/26/24 - 7/25/25)

Prepared By
Kathy Jernigan
kathy.jernigan@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: http://www.hmhco.com/common/terms-conditions

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693 Attention:
Dr. Anita Choice
anita.choice@okaloosaschools.com

Send <u>Orders</u> to: orders@hmhco.com FAX: 800-269-5232

Proposal for	Expiration Date: 8/30/2024
Okaloosa Co School District	

	ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
s		nglish 3 <u>D</u> icenses (565 minus 224 Level 1's using Read 180 licenses)				
1833127			\$50.00	341	\$17,050.00	
Т	otal for Student	Digital Licenses (565 minus 224 Level 1's using Read 180 licenses)	\$17,050.00			
Т	eacher Digital L	icenses (5 schools x 2 Teachers)				
1833415	9780358730750	English 3D Digital Access Teacher Subscription 1 Year (7/26/24 - 7/25/25)	\$55.00			14
		es K-12 Teacher Technology Subscription 1 Year (English 3D K-1 Vol 1, Grades 2-3 Vol 1, A1, A2, B1, B2, C, Language Launch 1, h 2)				
Т	otal for Teacher	Digital Licenses (5 schools x 2 Teachers)	\$0.00			
С	ourses and Wo	rkbooks				
L	anguage Launcl	h				
Α	II WIDA Level 1	s: Language Launch Volume 1:				
1864469	9780358920991	Language Launch Volume 1 Unit 1-3 Student Edition Set	\$30.00	224	\$6,720.00	
1864483	9780358921073	Language Launch Volume 1 Unit 4-6 Student Edition Set	\$30.00	224	\$6,720.00	
Т	eaching Materia	als Volume 1				
1864497	9780358921141	Language Launch Volume 1 Unit 1-3 Teaching Guide Set	\$360.00	5	\$1,800.00	
1864499	9780358921165	Language Launch Volume 1 Unit 4-6 Teaching Guide Set	\$360.00	5	\$1,800.00	
A	II WIDA Level 2	s: Language Launch Volume 2 & Begin Course A Vol 2				
1797641	9780358462750	English 3D Language Launch Volume 2 Student Edition	\$15.00	113	\$1,695.00	
1814992	9780358609452	English 3D Course A Volume 2 Language & Writing Portfolio	\$30.00	113	\$3,390.00	
1815047	9780358609506	English 3D Course A Volume 2 Issues Book	\$20.00	100	\$2,000.00	
Teaching Materials Volume 2						
1797642	9780358462767	English 3D Language Launch Volume 2 Teaching Guide	\$100.00	5	\$500.00	
Т	otal for Courses	s and Workbooks	\$24,625.00			

Total for English 3D

Send **Check Payments** to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Dr. Anita Choice anita.choice@okaloosaschools.com

Send Orders to: orders@hmhco.com FAX: 800-269-5232

\$41,675.00

Proposal for Okaloosa Co School District	Expiration Date: 8/30/2024
	Free

	ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
Sto	<u>Gr</u> udent Materials	rade 6 (Level 3 and Up) - Using LLV2 1/2 Year & C	ourse A V2 1/2 Year			
1797641	9780358462750	English 3D Language Launch Volume 2 Student Edition	\$15.00	48	\$720.00	
1814992	9780358609452	English 3D Course A Volume 2 Language & Writing Portfolio	\$30.00	48	\$1,440.00	
1815047	9780358609506	English 3D Course A Volume 2 Issues Book (15 per school)	\$20.00	45	\$900.00	
То	tal for Student	Materials	\$3,060.00			
Те	acher Materials	S				
1797642	9780358462767	English 3D Language Launch Volume 2 Teaching Guide	\$100.00	3	\$300.00	
1815052	9780358609551	English 3D Course A Volume 2 Teaching Guide	\$475.00	3	\$1,425.00	
3010847	9781328007247	English 3D Course A Class Poster Pack	\$15.00	3	\$45.00	
3027598	9780545889728 (20 paperbacks in	English 3D Course A Independent Reading Library 4-copy sets) (4 boxes)	\$930.00	3	\$2,790.00	
То	tal for Teacher	Materials	\$4,560.00			
Total for	r Grade 6 (Lev	vel 3 and Up) - Using LLV2 1/2 Year & Course A V2 1/2 Year	\$7,620.00			
Grade 7- 8 (Level 3 and Up) - Using LLVS 1/2 Year & Course B V1 1/2 Year Student Materials						
1797641	9780358462750	English 3D Language Launch Volume 2 Student Edition	\$15.00	90	\$1,350.00	
1815043	9780358609469	English 3D Course B Volume 1 Language & Writing Portfolio	\$30.00	90	\$2,700.00	
1815048	9780358609513	English 3D Course B Volume 1 Issues Book (20 per school)	\$20.00	60	\$1,200.00	
То	tal for Student	Materials	\$5,250.00			
Te	acher Materials	3				
1797642	9780358462767	English 3D Language Launch Volume 2 Teaching Guide	\$100.00	3	\$300.00	
1815053	9780358609568	English 3D Course B Volume 1 Teaching Guide	\$475.00	3	\$1,425.00	
3010851	9781328007254	English 3D Course B Class Poster Pack	\$15.00	3	\$45.00	
3027600	9780545889735 (20 paperbacks in	English 3D Course B Independent Reading Library 4-copy sets) (4 boxes)	\$930.00	3	\$2,790.00	
То	tal for Teacher	Materials	\$4,560.00			

<u>Total for Grade 7- 8 (Level 3 and Up) - Using LLVS 1/2 Year & Course B V1 1/2 Year</u> \$9,810.00

Send Check Payments to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Dr. Anita Choice anita.choice@okaloosaschools.com

Send Orders to: orders@hmhco.com FAX: 800-269-5232

Proposal for	Expiration Date: 8/30/2024		
Okalaaca Ca Sahaal Dictrict			

	ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
s	<u>Gr</u> tudent Materials	rade 9-12 (Level 3 and Up) Using Course B V2				
1815044	9780358609476	English 3D Course B Volume 2 Language & Writing Portfolio	\$30.00	90	\$2,700.00	
1815049	9780358609520	English 3D Course B Volume 2 Issues Book (25 per school)	\$20.00	50	\$1,000.00	
Т	otal for Student	Materials	\$3,700.00			
Т	eacher Materials	5				
1815054	9780358609575	English 3D Course B Volume 2 Teaching Guide	\$475.00	2	\$950.00	
3010851	9781328007254	English 3D Course B Class Poster Pack	\$15.00	2	\$30.00	
3027600		English 3D Course B Independent Reading Library 4-copy sets) (4 boxes)	\$930.00	2	\$1,860.00	
т	otal for Teacher	Materials	\$2,840.00			
Total fo	or Grade 9-12 (Level 3 and Up) Using Course B V2	\$6,540.00			
lr	<u>Pr</u> nplementation S	ofessional Services - SIS English 3D Success Plan				
1798613	This two-hour Ge structure, essentialso explore Ed, hand pathway on Ed. Getting Started is and support will band pathway based or sequence of topic related resources	Getting Started: Introduction to English 3D on Ed K-12 Live Online 2-Hour ting Started session introduces teachers to their new program's all resources, and implementation recommendations. Teachers will HMH's teaching and learning platform, and the professional learning the initial step toward a successful first 30 days. Ongoing training e also provided on Ed. There, teachers will access a guided learning in their grade level and implementation timeline. A recommended so, which includes live sessions, videos, interactive media, and the will help teachers plan, teach, and assess student learning using ogram. After teachers complete each pathway topic, they receive a pletion.		1		
L	eader Support f	or English 3D				
1852470	During this one-ho of their HMH prog set up teachers for and student learn	English 3D Leader Success Live Online 1-Hour Grades K-12 our live online session, leaders learn about the design and resources gram. To help leaders develop a plan to guide implementation and or a successful start, HMH Coaches share tools and best teaching ing practices to observe in the classroom. Leaders also preview the Pathways and resources on HMH Ed for ongoing support.		1		
G	etting Started					
3032634	9781328040794	Florida Intervention Coaching In Person 6-Hour	\$3,000.00	1	\$3,000.00	
Т	otal for Getting	Started	\$3,000.00			
Total fo	or Professiona	I Services - SIS English 3D	\$3,000.00			

Attention: Dr. Anita Choice

Send Orders to: orders@hmhco.com FAX: 800-269-5232

Send **Check Payments** to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

anita.choice@okaloosaschools.com

Date of Proposal: 6/4/2024 Expiration Date: 8/30/2024 **Proposal for**

Okaloosa Co School District

Free Value of All Materials **ISBN** Title Price Quantity Material Quantity

> Total Savings: \$1,170.00 Subtotal Purchase Amount: \$68,645.00 Shipping & Handling: \$2,915.70

Total Cost of Proposal (PO Amount):

Please add proper sales tax to your order

\$71,560.70

Send Check Payments to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Dr. Anita Choice anita.choice@okaloosaschools.com

Send Orders to: orders@hmhco.com FAX: 800-269-5232

Date of Proposal: 6/4/2024

Proposal for Okaloosa Co School District

Total Cost of Proposal (PO Amount): \$71,560.70

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for delivery of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.

Sold to: Ship to:

Okaloosa County School District Okaloosa County School District 202 Highway 85 N Ste A 202 Highway 85 N Ste A Niceville, FL 32578-1953 Niceville, FL 32578-1953

- Please provide funding start and end dates.
- Please note that all products and services will be billed upon the processing of your purchase order.
- Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- Our shipping terms are FOB shipping point. The shipping term for your proposal is Shipping Point.
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location guoted within.
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 6/4/2024 Proposal Expiration Date: 8/30/2024



Send Check Payments to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Dr. Anita Choice anita.choice@okaloosaschools.com

Send Orders to: orders@hmhco.com FAX: 800-269-5232

Expiration Date: 8/30/2024